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a positiveassociation

b positiveassociation

c NO mammalswithlonger
gestionstend to live longer
aswellbasedon thedata

19 positive 1959onlinear
b negative 4 linear
c no association 2

if

in
9 populationmeanµ 52
samplemeanx ̅ 58

1b populationmeanM 3.07
samplemean x ̅ 3.59

populationmeanµ 5.5hrs
samplemean x ̅ 6.25hrs



Assume n employees in this miningsite whohave didayspaidoff Elim n

Since the manager doesn'twanttogivemoredayoff to eachemployee
then di da in dn will notbe changed
Given the currentmean 35 dithytd
In orderto increasethemean withoutchanginganyoneof thedi
firing the employee whohaspaiddayoff between themean and the

minimum will be able to achieve thisgoal
However firing thoseemployeeswhohavelesspaiddayoff andhavelonger
work days will hit the productivity themost and it isnotverywise

a theirmedians arethe same but 2 s IOR ishigherthan CD's

b Bothmedianand IRR from a is higher than thosefrom4
c Their IORs are the same but 12s median is higherthanCD's

Id Bothmedianand IAR from a is higher than thosefroma



a meanfrom 2 is higher than meanfrom 1 since 20 13

so is standard deviation since 20 is furtherfrom therestnumbers

than 13

b meanfrom I is higher than meanfrom14 since 20 40

But12 s standard deviationishighersince40 isfurtherfrom therestnumbers

than 20
c meanfrom 2 is higher than meanfromall since each numberfrom

2 is 20 more comparing with thosefrom 1 but the
standard deviations are the same since they are equallyvariable
around their respective means

d Theyhave the same mean but data
2 hashigher standard

deviation since thedata arefurtherfrom themean than indatac



a It is unimodal and symmetric and about95 of thedatafalls
within about 7 units of thecenter so standard deviationwill be
about 3 or 5 this matches 2

b It is uniformly distributed from o to 100 withmediancloseto50
thismatches 3

C It is right skewed


